
19
WICONA® 27.01.2017

⑫

WICSTYLE 75 evo / 65 evo
Einbauanleitung Türband verdeckt INVISIO 6010125
Installation guide hinge concealed INVISIO 6010125

Beschlagsmontage
Installation of hardware

doc-0001105940_a

Montage am Flügel
Installation on the leaf

Nach der Montage beachten, dass die 
Kugelschraube (S3, ⑦) gegen die 
Platte ⑤ drückt.
After installation please check that the 
grub screw with ball (S3, ⑦) pushes 
against the plate ⑤.

⑦

⑪

⑤

Das Scharniersystem oben und unten in Flü-
gel einstecken. Mit 4 Zylinderkopfschrauben 
⑪ M8 x 30, S6, 15 Nm und 4x ⑫ Edel-
stahl-Unterlegscheiben befestigen.
Insert the hinge system top and bottom into 
the leaf. Fix with 4 cylinder head screws ⑪ 
M8 x 30, S6, 15Nm and 4x ⑫ stainless steel 
washers.

Rahmen
Frame

Flügel
Sash

WICONA® 27.01.2017

⑦

④

④

⑥

⑥

WICSTYLE 75 evo / 65 evo
Einbauanleitung Türband verdeckt INVISIO 6010125
Installation guide hinge concealed INVISIO 6010125

Beschlagsmontage
Installation of hardware

doc-0001105940_a

4 Senkkopfschrauben M6 x 10, 
T25 ⑥ zur Befestigung der Plat-
ten ④ lösen (oben und unten)
Loosen the 4 countersunk screws 
M6 x 10 T25 ⑥ fixing the plates 
④ (top and bottom)

Mittels unterer Kugelschraube 
(S3, ⑦) +/- 3 mm verstellen. 
Adjust with the lower grub screw 
(S3, ⑦) +/- 3 mm. 

4 Befestigungsschrauben M6 x 10, 
T25, ⑥) der Platten ④ anziehen 
(15 Nm).
Tighten the 4 fixing screws M6 x 10 
(T25, ⑥) of the plates ④ (15Nm).

Höheneinstellung
Height adjustment

Rahmen
Frame

Flügel
Sash

WICSTYLE evoConcealed Hinge Adjustment Instructions

    www.rkdoorsystems.co.uk

Adjusting the height
Support the door before making any adjustments

Frame

Door

See page 2 for horizontal adjustment

Fixing plate

Loosen the 4 countersunk 
screws M6 x10 T25, for the top 
and bottom hinges

4

4

4

7

6

6

6

6

Adjust the lower grub screw 
on top and bottom hinge for 
adjustment, range +/- 3mm

Tighten the 4 fixings screws 
torque 15Nm.



20
WICONA® 27.01.2017

WICSTYLE 75 evo / 65 evo
Einbauanleitung Türband verdeckt INVISIO 6010125
Installation guide hinge concealed INVISIO 6010125

Beschlagsmontage
Installation of hardware

doc-0001105940_a

Abmessungen beachten !
Pay attention to the dimensions !

 WICHTIG: 
Auf ein gleichmäßiges 
Spaltmaß achten!
IMPORTANT:
Pay attention that gap 
width is even!

 WICHTIG: 
Auf Flächenbündigkeit 
von Flügel und Rahmen 
achten!
IMPORTANT: 
Pay attention that leaf 
and frame are flush!

⑪

⑬

Die Schrauben ⑪ 8x ZK M8 x 30, S6 (Flügel oder Rahmen) lösen. 4x 
Verstellung +/- 1.5 mm mit Exzenterstift ⑬. Nach der Einstellung die 
Schrauben (Flügel oder Rahmen) anziehen (15 Nm).
Loosen the screws ⑪ 8x cyl. head M8 x 30, S6 (leaf or frame). 4x 
adjustment +/- 1.5 mm with excenter pin ⑬. After adjustment tighten 
screws (leaf or frame) with 15 Nm.

Durch Drehen der mittleren Schrauben 
(T25) seitlich verstellen, +/- 2 mm.
Turn the central screws (T25) to adjust 
laterally, +/- 2 mm. 

Seitliche Einstellung
Lateral adjustment

Anpressdruck Einstellung
Adjustment gasket pressure

Rahmen
Frame

Rahmen
Frame

Flügel
Sash

Flügel
Sash

WICONA® 27.01.2017

⑭

WICSTYLE 75 evo / 65 evo
Einbauanleitung Türband verdeckt INVISIO 6010125
Installation guide hinge concealed INVISIO 6010125

Beschlagsmontage
Installation of hardware

doc-0001105940_a

Abdeckkappen ⑭ zur Sicherung der 
Exzenterstifte montieren (4x)
Fit cover caps ⑭ to secure the 
eccentrics (4x)

Nach der Einstellung
After adjustment

Rahmen
Frame

Flügel
Sash

WICSTYLE evo

Loosen the screws            x8 cyl. head M8 x30 (door or frame).

x4 adjustment +/- 1.5mmwith excenter pin 

After adjusting tighten screws (frame and door) with 15Nm.

IMPORTANT 
Ensure door and frame are flush

IMPORTANT 
Ensure the gap width is even

Concealed Hinge Adjustment Instructions

    www.rkdoorsystems.co.uk

Horizontal adjustment
Support the door before making any adjustments

Adjusting the pressure gasket
Support the door before making any adjustments

Frame
Door

Turn the central screws (T25) to 
adjust horiziontally, +/- 2mm

Important
The gap must even and as shown 

11

11

13

13



21
WICONA® 27.01.2017

WICSTYLE 75 evo / 65 evo
Einbauanleitung Türband verdeckt INVISIO 6010125
Installation guide hinge concealed INVISIO 6010125

Beschlagsmontage
Installation of hardware

doc-0001105940_a

Abmessungen beachten !
Pay attention to the dimensions !

 WICHTIG: 
Auf ein gleichmäßiges 
Spaltmaß achten!
IMPORTANT:
Pay attention that gap 
width is even!

 WICHTIG: 
Auf Flächenbündigkeit 
von Flügel und Rahmen 
achten!
IMPORTANT: 
Pay attention that leaf 
and frame are flush!

⑪

⑬

Die Schrauben ⑪ 8x ZK M8 x 30, S6 (Flügel oder Rahmen) lösen. 4x 
Verstellung +/- 1.5 mm mit Exzenterstift ⑬. Nach der Einstellung die 
Schrauben (Flügel oder Rahmen) anziehen (15 Nm).
Loosen the screws ⑪ 8x cyl. head M8 x 30, S6 (leaf or frame). 4x 
adjustment +/- 1.5 mm with excenter pin ⑬. After adjustment tighten 
screws (leaf or frame) with 15 Nm.

Durch Drehen der mittleren Schrauben 
(T25) seitlich verstellen, +/- 2 mm.
Turn the central screws (T25) to adjust 
laterally, +/- 2 mm. 

Seitliche Einstellung
Lateral adjustment

Anpressdruck Einstellung
Adjustment gasket pressure

Rahmen
Frame

Rahmen
Frame

Flügel
Sash

Flügel
Sash

WICONA® 27.01.2017

⑭

WICSTYLE 75 evo / 65 evo
Einbauanleitung Türband verdeckt INVISIO 6010125
Installation guide hinge concealed INVISIO 6010125

Beschlagsmontage
Installation of hardware

doc-0001105940_a

Abdeckkappen ⑭ zur Sicherung der 
Exzenterstifte montieren (4x)
Fit cover caps ⑭ to secure the 
eccentrics (4x)

Nach der Einstellung
After adjustment

Rahmen
Frame

Flügel
Sash

WICSTYLE evo

Concealed Hinge Adjustment Instructions

    www.rkdoorsystems.co.uk

After adjustment
Support the door before making any adjustments

Fit cover caps to secure (x4)

Frame
Door

14

14


